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Annotations used in the detailed Mark Scheme (to include abbreviations and subject-specific conventions) 
 

Annotation Meaning 

 
Blank Page – this annotation must be used on all blank pages within an answer booklet (structured or 
unstructured) and on each page of an additional object where there is no candidate response.  

 

Tick 

 

Development of point 

 

incorrect 

 

Irrelevant (material which doesn’t answer the question) 

 
Caret sign to show omission 

 
Opinion 

 

Just/Justification 

 

Good language 

 
Poorly expressed 

 
Past tense correctly used 

 

Future tense correctly used 

 
Present tense correctly used 

 

Accurate language 

 
Inaccurate language 
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Subject-specific Marking Instructions 
 
You should print out a copy of the paper and work through it yourself (using the transcript for the Listening activities which you can find at the end of 
the Mark Scheme, if the audio version is not available on the portal.) You will need a copy of the written texts to refer to during the marking process in 
order to spot excessive lifting in tasks 6 and 7. The texts will not appear automatically on your marking screen. 
 

Abbreviations Meaning 

/ Alternative and acceptable answers for the same marking point 
(  ) Words which are not essential to gain the mark 

__ Underlined words must be included to gain the mark 
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Section A: Listening and Writing 
  
Task 1: Nuclear Energy 
 
Task specific guidance: 

 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate) 

 For single mark questions no annotation is necessary just enter 1, 0 or NR.  

 There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the mark 
or when a word in the response invalidates an otherwise acceptable answer.  

 You may also use the highlighter tool to show harmless additions. 

 Answers in Gujarati get no marks. 
 

 

Question Answer Marks 
[6] 

Guidance 

a because the cost of mineral oil and coal is increasing 1 
 
 

 

b it is used in industries 
It is used in medicine  
Any 1 of 2 
 

1 
 

 

c  
 
d 

The people got frightened when they heard about the nuclear 
disaster in Japan 

1 
 

Reference must be made to “fear of what happened in Japan”. 

 
e 

(i) they could become homeless 
(ii) they could get diseases after a long time 
 
the (affected) land could not be farmed / cultivated 
Produce / crops  (from the affected areas) could not be used 
Any 1 of 2 

1 
1 
 
1 
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Task 2:  
 
Task specific guidance: 

 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate) 

 For single mark questions no annotation is necessary just enter 1, 0 or NR.  

 There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the mark 
or when a word in the response invalidates an otherwise acceptable answer.  

 You may also use the highlighter tool to show harmless additions. 
 

Questio
n 

Answer Marks 
[22] 

Guidance 

a   

 

b  

 

 
 

( ) ( ) -   

( ) ( )   

( ) ( )   

1 
 
 
1 
1 
1 
 

 
 
 
 

Give a mark even if  is included . 

Give a mark even if  is included 

. 

   
 

 

c  ( )   

( )   

 

1 
1 

 

d  ( ) -   

( )   

1 
1 

The answer should say not  

The answer should say  not  

 

e   

 

 

 

 
1 
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Task 2:  
 
Task 2 cont... 
 

f  ( )   

( )  

 

1 
1 

 

Accept  

g  

   

 

1  

h  ( )   

( )  

( )   

 

1 
1 
1 

 

i    

 

1 
 

 

j    

 

1  

k  ( )   

( )   

 

1 
1 
 

 

l  

  

1 
 

Accept but not  

m  

 

  1 
 
 

 

n /    1  
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Task 2 cont...  
 
QoL: Read response again and assess for language.  
 

 Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential.  
 

 Grid C.2: Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. Identify the band which 
best matches the performance. If you identified the band without hesitation you must award the higher of the two marks.  

 

GRID C.2 
QUALITY OF LANGUAGE – ACCURACY 
10 marks  AO3 

9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.  

7-8 
Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex 
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.  

5-6 
Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct 
use of complex sentence structures. The performance is likely to be patchy and inconsistent. 

3-4 
Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival 
agreements) but evidence of correct use of simple sentence structures.  Vocabulary and structures may be quite strongly influenced 
by the candidate’s first language.  

0-2 
Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common 
nouns). Frequent first language interference. 
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Section B: Reading and Writing 
 
In Section B there are 10 marks for Quality of Language. 
 

Task 3:  

 

Question Answer Marks 
[6] 

Guidance 

a       1  
Multi-choice  
Marks entered individually. No need for annotation. Enter 1, 0 
or NR as appropriate. 
 

b    1 

c    1 

d    1 

e     1 

f     1 
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Task 4:  

 

Question Answer Marks 
[9] 

Guidance 

a    1 1 mark for each correct answer 
 
The marks are awarded individually. No annotations are 
necessary. 
 
Word should be the same as in the text including the case 
ending. 

b    1 

c    1 

d    1 

e   1 

f   1 

g   1 

h   1 

i   1 
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Task 5:  

 

Question Answer Marks 
[5] 

Guidance 

a     1  
Gap-fill 
No annotation is necessary. Enter 1, 0 or NR as appropriate. 
Ignore mis-spellings. 
 
Accept other phrases if the same meaning as in the passge. 

b    1 

c    1 

d    1 

e    1 
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Task 6:  

 

Question Answer Marks 
[5] 

Guidance 

a     1  
Sentence Completion 
Marks entered individually. No need for annotation. Enter 1, 0 
or NR as appropriate. 
 
 
 

b    1 

c    1 

d    1 

e    1 
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Task 7:  
 
Task specific guidance 
 

 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate).  
 

 Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear 
on the screen. 

 

 Go through all the responses and assess every question for comprehension. 
 

a. Marks are awarded on a point by point basis, according to the mark scheme.  
b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or QoL 
c. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes 

slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is 
gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may answer with 
single words / short phrases. 
 

Annotations: 

 Award 1, 0 or NR without annotation.  

 Use a tick (P) to indicate a mark awarded on any question where the answer is more than one mark.     

 Use a cross (x) when a word in the response invalidates an otherwise acceptable answer. 
 

 Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude 
from Quality of Language assessment.  
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Task 7:  

 

Question Answer Marks 
[10] 

Guidance 

a   ( )  

 

1  

b    

 

1  

c  . 

  

 

1 
1 

 

d    

 

1  

e    

  

  

 
 
 
1 

 

 
 

f    

 
 
 

g   

 
 
 

  

 

 

 
 
 
2 
 
1 
 
 

 
 
 
If no opposite effect shown give no mark. One detail only is not 
sufficient to show the opposite effect. 
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Task 8:  
 
Transfer of Meaning 
 

Question Answer Marks Guidance 

  [10] Content Levels of response 

1 The UK’s national Health Service as we 
know it  
 

 Award two marks per translated section 
according to the grid below. This grid 
assesses Transfer of Meaning into 
English. Note that this grid integrates 
Quality of Written Communication Strand 
(i) descriptors.  
 
Exceptional responses and marks to 
award: 
 

1. Candidates may answer in 
faultless English but may not 
transfer meaning accurately. 
Award either 0 or 1 mark, 
depending on level of inaccuracy 
in meaning.  

2. The transfer of meaning is 
accurate but contains 
significant spelling and/or 
grammar errors. Award 0 or 1 
mark, depending on level of 
inaccuracy of English. 

 

GRID H.2 

 started about 70 years ago. 
 

 TRANSFER OF MEANING 

2 Before that money had to be paid 
 

 2 
Accurate transfer of meaning. 
Faultless or virtually faultless 
grammar, punctuation and spelling 
in English. 
 
1 
Inconsistent transfer of meaning. 
Mostly accurate but there are errors 
and/or missed details. There are 
instances of error in grammar, 
punctuation and spelling in English. 
 
0 
Very limited transfer of meaning. A 
substantial number of elements 
misunderstood or missing. 
Significant error in grammar, 
punctuation and spelling in English. 

 For many medical services 
 

 

3 So people avoided going to the doctor 
 

 

 Even if they were ill. 
 

 

4 After the start of the NHS doctors, nurses 
etc. 
 

 

 Started working under one umbrella 
(organisation) 
 

 

5 And the patients started getting   
 

 

 Free treatment according to their needs. 
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Task 9:  

 

Question Answer Marks 
[6] 

Guidance 

a   /  1  
 
 
 
Sentence Completion 
Marks entered individually. No need for annotation. Enter 1, 0 
or NR as appropriate. 
 
Accept any meaningful phrase according to the sense in the 
passage. 

b    1 

c    1 

d   1 

e    1 

f   1 
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Task 10:  

 

Question Answer Marks 
[6] 

Guidance 

a    /  1 A meaning of the phrase should be given. Use of phrase in a 
sentence will get no mark unless the meaning is explained. 

b     1 

c    1 

d  ï   1 

e    1 

f    1 
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Task 11  
 
Task specific guidance 
 

 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate).  
 

 Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not 
appear on the screen. 

 

 Go through all the responses and assess every question for comprehension.   
 

d. Marks are awarded on a point by point basis, according to the mark scheme.  
e. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or QoL 
f. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes 

slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is 
gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may answer with 
single words / short phrases. 

 
Annotations:    

 Award 1, 0 or NR without annotation.  

 Use a tick (P) to indicate a mark awarded on any question where the answer is more than one mark.     

 Use a cross (x) when a word in the response invalidates an otherwise acceptable answer. 

 Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude 
from Quality of Language assessment.  
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F884  

 

Question Answer Marks 
[10] 

Guidance 

a   

  

 

  

  

1 
 
 
1 
1 

Accept  

b    1 
 

 

c    

  

  

 

1 
1 
1 
 

 

d    

  

 

1 
1 
 

 

e  

 

1 
 
 

is not sufficient to gain a mark. 
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F884  

 
1. Assessing Quality of Language across Section B 
 

a. You will get a separate screen which will be the whole page for exercise , 5, 6, 7, 9, 10 and 11 (unannotated).  Read all the answers 
again. You may use the green L marking tool to highlight good language to assist you in the application of Grid C.2. but it is not essential. 

b. Apply Grid C.2 and enter the mark. 
c. PE to provide specific guidance on which exercises in Section B will provide best evidence for Quality of Language. 

 

 

GRID C.2 
QUALITY OF LANGUAGE – ACCURACY 
10 marks  AO3 

9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.  

7-8 
Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex 
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.  

5-6 
Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct 
use of complex sentence structures. The performance is likely to be patchy and inconsistent. 

3-4 
Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, 
adjectival agreements) but evidence of correct use of simple sentence structures.  Vocabulary and structures may be quite strongly 
influenced by the candidate’s first language.  

0-2 
Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common 
nouns). Frequent first language interference. 
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Section C: Writing 
 
Task 12-19 
 
Task specific guidance 
 
Mark one essay using the grids N, O, C.2 and F.2.  
 
If a candidate has written more than one essay mark both essays in the normal way but enter the mark for the essay which has earned most marks 
over all.  
 

Question Indicative Content Marks Guidance 

Task 12-
19 

No Indicative Content – personal response 
 
 

[25] Grid N guidance 
 
3–4 – No specific example from TL = cap 4 
 
5–6 – Demonstration of originality and/or imagination – applies mainly to 
imaginative 
 
7–8 – Imaginative and/or original response to task – applies mainly to 
imaginative 
 
Grid O guidance 
 
6–9 – Straight narration = more 6/7 
 
Evidence of some argument = more 8/9 
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Task 12-19 – Language (QOL) – Grids C.2 and F.2:  [20 marks] 
 

Question Answer Marks Guidance 

Task 12-
19 

Assess for Quality of Language using Grids 
C.2 and F.2 
Appendix 1 
 
 

[20] Read the whole response again and assess for Range (Grid F.2) first – i.e. 
vocabulary and structures. Then assess for Accuracy (Grid C.2). Key words 
have been highlighted in the grids below. Ignore final sentence of 3-4 band in 
Grid C.2, because vocabulary and structures have already been assessed under 
Grid F.2. If you wish, you may use the underlining tool (--) to show language 
errors if you find it makes it easier to apply Grid C.2, but it is not essential. Enter 
your mark. 
 
Grid C.2 guidance 
0–2 – Errors ([e.g.] endings, verb forms, gender of common nouns).  
          Frequent first [= other] language interference. 
3–4 – Errors ([e.g.] endings, verb forms, gender of common nouns, adjectival    
          agreements). 
          Candidate’s first [= other] language. 
          Meaning may be unclear; more wrong than right. 
5–6 – Wrong/right = 50/50 
7–8 – More right than wrong. 
 
Grid F.2 guidance 
5–6 – [A range of] syntax and sentence structures appropriate to the [register of 
the] task. 
7–8 – Effective = good. 
          Reads easily. 
9–10 – idiom ≠ idioms. 
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APPENDIX 1 
 

GRID N           
RELEVANCE AND POINTS OF VIEW 
10 marks AO2 

 
GRID O 

STRUCTURE AND ANALYSIS   
15 marks AO2 

       

9–10 
Consistently relevant information that supports 
points of view and opinions. Shows genuine insight 
in responding to the task.  

 

13–15 

The response displays genuine control and clarity. A 
very well-developed argument. Confident ability to 
develop an argument, analyse and evaluate, and draw 
conclusions.  

7–8 

Relevant information that responds to the 
requirements of the task and is used to support 
points of view and opinions. Produces an imaginative 
and/or original response to the task. 

 

10–12 

Coherently structured and organised response. Points 
of view are linked in a logical sequence. Able to 
develop an argument, analyse and evaluate, and 
draw conclusions.  

5–6 

The information given is mainly relevant to the task. 
Points of view and opinions are generally supported 
by some factual evidence. May demonstrate some 
originality and/or imagination. 

 

6–9 

Structured and organised response. Points of view are 
mostly linked in a logical sequence. Shows some 
ability to develop an argument, analyse and evaluate 
and draw conclusions.  

3–4 

Includes some relevant information but does not 
always address the requirements of the task. May 
have some difficulty in expressing points of view 
and/or narrating events and/or communicating factual 
information. 

 

3–5 
Shows some ability to structure and organise the 
response. Limited ability to develop an argument, 
analyse and evaluate, and draw conclusions.  

0–2 
The response to the task is likely to be very short 
and/or irrelevant and/or very superficial. 

 

0–2 
Random organisation of the response. Limited 
attempt to develop an argument, analyse and 
evaluate, and draw conclusions. 
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GRID C.2          
QUALITY OF LANGUAGE (ACCURACY)     
 10 marks AO3 

 
GRID F.2 

QUALITY OF LANGUAGE (RANGE)                   
10 marks AO3 

       

9–10 
Characterised by a high and consistent level of 
accuracy in use of complex structures, although there 
may be some errors. 

 

9–10 
Effective and confident use of a wide range of 
vocabulary and idiom with a variety of complex 
sentence structures. 

7–8 

Language generally accurate. Shows a sound grasp 
of AS and/or A2 structures, as appropriate. Generally 
correct use of complex structures. Tenses and 
agreements good, although there may be some 
inconsistency and errors in more complex areas. 

 

7–8 

Effective use of a range of vocabulary and structures 
appropriate to the task, with little repetition. A positive 
attempt to introduce variety and to use a range of 
complex sentence structures (though not always able 
to maintain correct usage). 

5–6 

Shows evidence of fair understanding of grammatical 
usage. Generally accurate use of simple sentence 
structures. Some correct use of complex sentence 
structures. The performance is likely to be patchy and 
inconsistent. 

 

5–6 

Attempts to extend the range of vocabulary, 
though still rather repetitive. Attempts to use more 
complex language with some success in producing 
a range of syntax and sentence structures appropriate 
to the task. 

3–4 

Evidence of gaps in basic grammar. Frequent errors 
of an elementary kind (endings, verb forms, gender of 
common nouns, adjectival agreements) but evidence 
of correct use of simple sentence structures. 
Vocabulary and structures may be quite strongly 
influenced by the candidate’s first language. 

 

3–4 

Use of a restricted range of vocabulary and structures. 
Frequent repetition of the same words and phrases. 
Some attempt (not necessarily successful) at the use 
of more complex sentence structures. 

0–2 

Little evidence of grammatical awareness. Persistent, 
serious and elementary errors (endings, verb forms, 
gender of common nouns). Frequent first language 
interference. 

 

0–2 
Only simple sentence patterns. Very limited 
vocabulary. Very limited range of structures. 

F884 
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APPENDIX 2 
 
Transcripts of Listening Texts 
 
 
Note for Document production team: This section of the mark scheme must stay in 
Portrait format until after the standardisation meeting. 
 
Task 1: Listening  
Nuclear Energy 
 

 

(  words)  
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-

-

 

 

 

 

 

  

 

 

   

 

 

 

 -  

 

 

 

 

 

 

 

 

[3 words] 
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